Vol.48, No.8 Aug. 2 0 1 8

JOURNAL OF UNIVERSITY OF SCIENCE AND TECHNOLOGY OF CHINA

文章编号:0253-2778(2018)08-0643-06

# Poisson bracket method for obtaining normal coordinates of quadratic Hamiltonian

LIN Quan<sup>1</sup>, FAN Hongyi<sup>2</sup>

(1. College of Mechanic and Electronic Engineering, Wuyi University, Wuyishan 345300, China;

2. Department of Material Science and Engineering, University of Science and Technology of China, Hefei 230026, China)

**Abstract:** It was found that the problem of searching for normal coordinates W of quadratic Hamiltonian H can be ascribed to solving the newly established secular equation with two consecutive Poisson bracket operations. Solving W would simultaneously lead to the normal frequency. Some examples about quadratic Hamiltonian were presented to demonstrate the effectiveness of the presented method.

**Key words:** quadratic Hamiltonian; Poisson bracket operations; normal coordinates; normal frequency

**CLC number:** O413.1 **Document code:** A doi:10.3969/j.issn.0253-2778.2018.08.007

Citation: LIN Quan, FAN Hongyi. Poisson bracket method for obtaining normal coordinates of quadratic Hamiltonian[J]. Journal of University of Science and Technology of China, 2018,48(8):643-648. 林权,范洪义. 求二次型哈密顿量简正坐标的泊松括号方法[J]. 中国科学技术大学学报,2018,48(8):643-648.

## 求二次型哈密顿量简正坐标的泊松括号方法

林 权1,范洪义2

(1.武夷学院机电工程学院,福建武夷山 354300;2.中国科学技术大学材料科学与工程系,安徽合肥 230026)

摘要:研究发现寻求二次型哈密顿量 H 的简正坐标 W 可以归结于求解由两个相继的泊松括号运算组成的 久期方程,从此方程解出 W 就能同时给出简正频率.通过几个二次型哈密顿量的例子说明了此方法的优点. 关键词:二次型哈密顿函数;泊松括号运算;简正坐标;简正频率

#### 0 Introduction

In classical analytical mechanics the Poisson bracket is used to express Hamilton equation and Poisson theorem in a concise way<sup>[1-2]</sup>. In this paper we present a new application of Poisson bracket,

e.g., we shall search for normal coordinates of quadratic Hamiltonian by establishing a secular equation with two consecutive Poisson bracket (PB) operations. Normal coordinates are such that make a Hamiltonian in separable form of independent oscillators.

**Received:** 2018-03-29; **Revised:** 2018-05-25

Foundation item: Supported by the National Natural Science Foundation of China (11775208), Education and Sci-Tech Projects for Young and Middle-aged Teachers in Fujian Province (JK2014053), Educational Research Projects for Young and Middle-aged Teachers in Fujian Province (JAT170582).

**Biography:** LIN Quan (corresponding author), male, born in 1980, master/associate Prof. Research field: Theoretical mechanics and mechanical design .E-mail: 12959392@qq.com

Generally, there are two methods for finding normal coordinates, one is by changing the coordinate scales and diagonalizing the new kinetic energy matrix[3-4], the other is by changing the coordinate scales and using arbitrary row of adjoint matrix of the frequency eigen matrix<sup>[5-6]</sup>. They are quite different from our new method to be presented in this paper. Our new idea is to establish the secular equation for normal coordinates with two consecutive Poisson bracket (PB) operations. Then solving this equation will also lead to normal frequencies. Some complicated examples of coupled oscillators are presented to show our new method's merit. This is a new approach to obtaining normal coordinates of classical dynamic systems, and therefore enriches the classical Lagranian-Hamiltonian theory.

## 1 The secular equation for normal coordinates

The secular equation we propose involves two Poisson bracket operations in uninterrupted succession

$$\{H,\{H,W\}\} = \lambda W \tag{1}$$

where H is a quadratic Hamiltonian, W is a classical dynamic variable we are searching for, it is not explicitly time dependent, and looks as if it is an "eigenvalue" of the two consecutive Poisson bracket operations.

We want to manifest that once W is found, it denotes normal coordinate which is capable of diagonalizing the Hamiltonian H .

According to time evolution of W

$$\frac{\mathrm{d}W}{\mathrm{d}t} = \sum_{i} \left( \frac{\partial W}{\rho_{i}} \dot{p}_{i} + \frac{\partial W}{q_{i}} \dot{q}_{i} \right) \tag{2}$$

and using the Hamilton canonical equation

$$\dot{q}_i = \frac{\partial H}{\partial p_i}, \dot{p}_i = -\frac{\partial H}{\partial q_i}$$
 (3)

as well as the definition of Poisson bracket

$$\{f,g\} = \sum_{i} \left( \frac{\partial f}{\partial q_{i}} \frac{\partial g}{\partial p_{i}} - \frac{\partial f}{\partial p_{i}} \frac{\partial g}{\partial q_{i}} \right) \tag{4}$$

we can reform (2) as a Poisson bracket

$$\frac{\mathrm{d}W}{\mathrm{d}t} = \sum_{i} \left( \frac{\partial W}{\partial q_{i}} \frac{\partial H}{\partial p_{i}} - \frac{\partial W}{\partial p_{i}} \frac{\partial H}{\partial q_{i}} \right) = \{W, H\} \quad (5)$$

Differentiating this equation with time again

we obtain

$$\frac{\mathrm{d}^{2}W}{\mathrm{d}t^{2}} = \frac{\mathrm{d}}{\mathrm{d}t} \frac{\mathrm{d}W}{\mathrm{d}t} = \sum_{i} \left( \frac{\partial \dot{W}}{\partial q_{i}} \frac{\partial H}{\partial p_{i}} - \frac{\partial \dot{W}}{\partial p_{i}} \frac{\partial H}{\partial q_{i}} \right) \tag{6}$$

and still using (5) we see

$$\frac{\mathrm{d}^{2}W}{\mathrm{d}t^{2}} = \sum_{i} \frac{\partial H}{\partial p_{i}} \frac{\partial}{\partial q_{i}} \{W, H\} - \frac{\partial H}{\partial q_{i}} \frac{\partial}{\partial p_{i}} \{W, H\} = \{\{W, H\}, H\} = \{H, \{H, W\}\} \}$$
(7)

which involves two consecutive Poisson bracket operations. If we can find some W satisfying

$$\{H, \{H, W\}\} = \{\{W, H\}, H\} = \lambda W$$
 (8)

where  $\lambda$  is positive. Eq. (1) becomes

$$\frac{\mathrm{d}^2 W}{\mathrm{d}t^2} = \lambda W \tag{9}$$

where W is qualified to be normal coordinates for H. To explain this, let us write down the Lagrangian for a quadratic physical system

$$\mathcal{L} = \frac{1}{2} \left[ \sum_{i=1}^{l} m_i \dot{x}_i^2 - \sum_{i,j=1}^{l} K_{ij} x_i x_j \right]$$
 (10)

in terms of normal coordinates  $Q_i$  it just exhibits the form of l-independent oscillators<sup>[7]</sup>

$$\mathcal{L} = \frac{1}{2} \left[ \sum_{i=1}^{l} \dot{\mathbf{Q}}_{i}^{2} - \sum_{i=1}^{l} \omega_{i}^{2} \mathbf{Q}_{i}^{2} \right]$$
 (11)

By using the Lagrangian equation

$$\frac{\mathrm{d}}{\mathrm{d}t} \frac{\partial \mathcal{L}}{\partial \dot{\mathbf{Q}}_i} - \frac{\partial \mathcal{L}}{\partial \mathbf{Q}_i} = 0 \tag{12}$$

we know that  $Q_i$  obeys the Newton equation

$$\frac{\mathrm{d}^2 Q_i}{\mathrm{d}t^2} = \omega_i^2 Q_i \tag{13}$$

Comparing Eq.(9) with Eq.(13), one can see that W really represents normal coordinates for H, and  $\lambda$  in Eq. (9) just corresponds to  $\omega_i^2$  in Eq.(13). Therefore, solving the secular equation (1) can lead to normal coordinates. This is a new approach to obtaining normal coordinates of classical dynamic systems.

## 2 Poisson bracket method for obtaining normal coordinates of three coupled oscillators

The Hamiltonian of three coupled oscillators is [8-9]

$$H = \frac{p_1^2}{2m} + \frac{p_2^2}{2M} + \frac{p_3^2}{2m} +$$

$$\frac{1}{2}k(x_2-x_1)^2+\frac{1}{2}k(x_2-x_3)^2 \qquad (14)$$

where k is the spring constant. The mass in the middle is M, the other two masses are m. The fundamental Poisson brackets are

$$\{x_1, H\} = \frac{\partial H}{\partial p_1} = \frac{p_1}{m},$$

$$\{x_2, H\} = \frac{\partial H}{\partial p_2} = \frac{p_2}{M}, \{x_3, H\} = \frac{p_3}{m}\}$$
(15)

And

$$\{p_1, H\} = -\frac{\partial H}{\partial x_1} = k(x_2 - x_1)$$
 (16)

$$\{p_2, H\} = -\frac{\partial H}{\partial x_2} = -k(x_2 - x_1) + k(x_3 - x_2)$$

(17)

$$\{p_3, H\} = -\frac{\partial H}{\partial x_3} = k(x_2 - x_3) \qquad (18)$$

Assuming the normal coordinate W for this H takes the form

$$W = x_1 + f x_2 + g x_3 \tag{19}$$

where f,g are to be determined. According to Eqs.(12) and (13), substituting (14) into the secular equations (1) and (8), we have

$$\lambda W = \{ \{W, H\}, H \} = \begin{cases} \frac{p_1}{m}, H \} + f \left\{ \frac{p_2}{m}, H \right\} + g \left\{ \frac{p_3}{m}, H \right\} = \\ \frac{1}{m} k (x_2 - x_1) + \\ f \left[ -k (x_2 - x_1) + (x_3 - x_2) \right] + g = \end{cases}$$

$$-k\left[\left(\frac{1}{m} - \frac{f}{M}\right)x_1 + \left(\frac{-1}{m} + \frac{2f}{M} - \frac{g}{m}\right)x_2 + \left(\frac{g}{m} - \frac{f}{M}\right)x_3\right]$$
(20)

Comparing (20) with (19), we conclude that their corresponding coefficients must be proportional to each other, so

$$1: f: g = \left(\frac{1}{m} - \frac{f}{M}\right): \left(\frac{-1}{m} + \frac{2f}{M} - \frac{g}{m}\right): \left(\frac{g}{m} - \frac{f}{M}\right) (21)$$

or equivalently

$$1: f: g = (M - fm): (-M + 2fm - gM): (gM - fm)$$
(22)

from which we have two independent equations

$$\frac{M - fm}{gM - fm} = \frac{1}{g} \tag{23}$$

$$\frac{-M + 2fm - gM}{gM - fm} = \frac{f}{g} \tag{24}$$

From Eq.(23) we see

$$g = 1, \text{ or } f = 0$$
 (25)

When 
$$f = 0$$
, Eq.(24) reduces to  $\frac{-M - gM}{gM} =$ 

0, so g = -1; On the other hand, when g = 1, Eq. (24) becomes to

$$-2M + 2fm = f(M - fm)$$
 (26)

in this case

$$f = -2, \text{ or } f = \frac{M}{m} \tag{27}$$

In sum, we have three groups of solutions

$$f = 0, g = -1$$
 (28)

$$f = \frac{M}{m}, g = 1 \tag{29}$$

$$f = -2, g = 1$$
 (30)

Substituting them into Eq. (19) respectively gives the normal coordinates

$$W = x_1 - x_3 \tag{31}$$

$$W = x_1 + \frac{M}{m}x_2 + x_3 \tag{32}$$

$$W = x_1 - 2x_2 + x_3 \tag{33}$$

On the other hand, respectively substituting the three solutions into (20) yields

$$\lambda W = -\frac{k}{m} (x_1 - x_3) \tag{34}$$

$$\lambda W = 0 \tag{35}$$

$$\lambda W = -k \left( \frac{1}{m} + \frac{2}{M} \right) (x_1 - 2x_2 + x_3)$$
 (36)

which indicates that the normal frequencies are

$$\omega_1 = \sqrt{\frac{k}{m}}, \omega_2 = 0, \omega_3 = \sqrt{\frac{k}{m} \left(1 + \frac{2m}{M}\right)}$$
 (37)

One may check our new method's correctness by other known methods.

## 3 Poisson bracket method for obtaining normal coordinates of linear bi-atomic chain with unequal masses

Now we search for normal coordinates of a linear chain composed of N-bi-atoms, each bi-atom containing two irons with unequal masses m and

m', whose Hamiltonian is [10]

$$H = \sum_{n=1}^{N} \left[ \frac{p_n^2}{2m} + \frac{p_n'^2}{2m'} + \frac{\beta}{2} (x_n - x_n')^2 + \frac{\beta}{2} (x_n - x_{n-1}')^2 + \frac{\beta}{2} (x_n' - x_{n-1})^2 \right]$$
(38)

Supposing the normal coordinates take the form

$$W = \sum_{n=1}^{N} (f_n p_n + f'_n p'_n)$$
 (39)

where  $f_n$ ,  $f'_n$  are to be determined, W should obey the secular equation (4). Using Eq.(38) we see

$$\{p_{n}, H\} = \left\{p_{n}, \frac{\beta}{2}(x_{n} - x'_{n})^{2} + \frac{\beta}{2}(x_{n} - x'_{n-1})^{2}\right\} = \beta(x'_{n} + x'_{n-1} - 2x_{n})$$

$$(40)$$

$$\{p'_{n}, H\} = \beta(x_{n} + x_{n-1} - 2x'_{n})$$
 (41)

$$\{x_n, H\} = \{x_n, \frac{p_n^2}{2m}\} = \frac{p_n}{m}, \{x'_n, H\} = \frac{p'_n}{m'}$$
 (42)

Using these we calculate

$$\{W, H\} = \sum_{n=1}^{N} \{ (f_n p_n + f'_n p'_n), H \} =$$

$$\beta \sum_{n=1}^{N} \left[ f_n (x'_n + x'_{n-1} - 2x_n) p_n + f'_n (x_n + x_{n-1} - 2x'_n) \right] =$$

$$\beta \sum_{n=1}^{N} \left[ (f'_n + f'_{n-1} - 2f_n) x_n + (f_n + f_{n+1} - 2f'_n) x'_n \right]$$
(43)

Further, we evaluate

$$\{\{W,H\},H\} = -\beta \sum_{n=1}^{N} \left[ \frac{1}{m} (f'_{n} + f'_{n-1} - 2f_{n}) p_{n} + \frac{1}{m'} (f_{n} + f_{n+1} - 2f'_{n}) p'_{n} \right]$$
(44)

Comparing the coefficients of (44) with those in (39) and using (8) we have

$$\lambda f_n = -\beta \frac{1}{m} (f'_n + f'_{n-1} - 2f_n) \tag{45}$$

$$\lambda f'_{n} = -\beta \frac{1}{m'} (f_{n} + f_{n+1} - 2f'_{n})$$
 (46)

It then follows

$$\lambda = -\frac{\beta}{mf_n} (f'_n + f'_{n-1} - 2f_n) = -\frac{\beta}{m'f'} (f_n + f_{n+1} - 2f'_n)$$
(47)

which is

$$\frac{1}{m} \left( \frac{f'_{n} + f'_{n-1}}{2f_{n}} - 1 \right) = \frac{1}{m'} \left( \frac{f_{n} + f_{n+1}}{2f'_{n}} - 1 \right),$$

$$n = 1, 2, \dots, N$$
(48)

and leads us to

$$f_n = \mu \cos 2n\theta_l, f'_n = \nu \cos(2n+1)\theta_l \quad (49)$$

where

$$\theta_{l} = \frac{\pi}{N}, 1, 2, \cdots, 2N \tag{50}$$

Substituting Eq.(49) into Eq.(47) leads to

$$\lambda = \frac{2\beta}{m} \left( 1 - \frac{\nu}{\mu} \cos \theta_{l} \right) = \frac{2\beta}{m'} \left( 1 - \frac{\mu}{\nu} \cos \theta_{l} \right) \tag{51}$$

and

$$\frac{\nu}{\mu} = \frac{2\beta \cos\theta_{l}}{2\beta - m'\lambda} = \frac{2\beta - m\lambda}{2\beta \cos\theta_{l}}$$
 (52)

thus

$$m'\lambda^2 - 2\beta(m+m') \lambda + 4\beta^2 \sin^2 \theta_t = 0 \quad (53)$$

whose solution gives the normal frequency

$$\lambda = \beta \left( \frac{1}{m} + \frac{1}{m'} \right) \pm \beta \left[ \left( \frac{1}{m} + \frac{1}{m'} \right)^2 - \frac{4\sin^2\theta}{mm'} \right] = \omega^2$$
(54)

and the normal coordinates for bi-atomic linear chain is

$$W = \sum_{n=1}^{N} \left[ \mu p_n \cos 2n\theta_l + \nu p'_n \cos(2n+1)\theta_l \right]$$
(55)

## 4 Poisson bracket method for obtaining normal coordinates of an impeller model

In this section we employ the Poisson bracket method to find normal coordinates of an impeller model. A practical impeller is a rotating component of a centrifugal pump which transfers energy from the motor that drives the pump to the fluid being pumped by accelerating the fluid outwards from the center of rotation. Here we write down the Hamiltonian of an impeller with two types of vanes

$$H'' = \sum_{n=1}^{N} \left[ \frac{p_{2n}^2}{2m_1} + \frac{p_{2n+1}^2}{2m_2} + \frac{\lambda}{2} (X_{2n} - X_{2n+1})^2 + \frac{\lambda}{2} (X_{2n+1} - X_{2n+2})^2 + \frac{1}{2} \eta_1 X_{2n}^2 + \frac{1}{2} \eta_2 X_{2n+2}^2 \right]$$
(56)

where N is impeller vane number,  $\lambda$  is the spring

coupling constant between two neighbouring vanes,  $\eta_i$  (i=1,2) is the coupling constant between two types of vanes with the rotating center, respectively. Using (56) we calculate the following Poisson brackets:

$$\{P_{2m}, H''\} = i\{\lambda X_{2m+1} + \lambda X_{2m-1} - X_{2m}(2\lambda + \eta_1)\}$$
(57)

$$\{P_{2m+1}, H''\} = \{\lambda X_{2m} + \lambda X_{2m+2} - X_{2m+1}(2\lambda + \eta_2)\}$$

$$\{X_{2n}, H''\} = \frac{\mathrm{i}}{m_1} P_{2n}, \{X_{2n+1}, H\} = \frac{\mathrm{i}}{m_2} P_{2n+1}$$
(59)

Supposing the invariant eigenvector for H'' is

$$F = \sum_{m=1}^{N} (f_{2m} P_{2m} + f_{2m+1} P_{2m+1})$$
 (60)

then using Eqs.(57) $\sim$ (59) we evaluate  $\{F, H''\} =$ 

$$\sum_{m=1}^{N} \{ i X_{2m} [f_{2m+1}\lambda + f_{2m-1}\lambda - f_{2m}(2\lambda + \eta_{1})] + i X_{2m+1} [f_{2m}\lambda + f_{2m+2}\lambda - f_{2m+1}(2\lambda + \eta_{2})] \}$$
(61)

It follows

$$\{\{F, H''\}, H''\} = \sum_{m=1}^{N} \left\{ \frac{P_{2m} [f_{2m} (2\lambda + \eta) - \lambda (f_{2m+1} + f_{2m-1})]}{m_1} + \frac{P_{2m+1} [f_{2m+1} (2\lambda + \eta) - \lambda (f_{2m} + f_{2m+2})]}{m_2} \right\} = \omega^2 \sum_{m=1}^{N} (f_{2m} P_{2m} + f_{2m+1} P_{2m+1})$$
 (62)

Comparing the two sides of Eq. (62) we have  $f_{2m}(2\lambda + \eta_1) - \lambda(f_{2m+1} + f_{2m-1}) =$ 

$$f_{2m}m_1\omega^2 f_{2m+1}(2\lambda + \eta_2) - \lambda (f_{2m} + f_{2m+2}) = f_{2m+1}m_2\omega^2$$
 (63)

The condition that the solution of  $\omega^2$  exists is

$$\frac{1}{m_1} \left\{ (2\lambda + \eta_1) - \frac{\lambda (f_{2m+1} + f_{2m-1})}{f_{2m}} \right\} = \frac{1}{m_2} \left\{ (2\lambda + \eta_2) - \frac{\lambda (f_{2m} + f_{2m+2})}{f_{2m+1}} \right\} \tag{64}$$

Let

 $f_{2m} = \xi \cos 2m\theta, f_{2m+1} = \xi' \cos(2m+1)\theta$  (65) and substitute Eq.(65) into Eq.(63) we have

$$\frac{1}{m_1} \left\{ (2\lambda + \eta_1) - \frac{2\lambda \xi' \cos \theta}{\xi} \right\} = \omega^2, 
\frac{1}{m_2} \left\{ (2\lambda + \eta_2) - \frac{2\lambda \xi \cos \theta}{\xi'} \right\} = \omega^2$$
(66)

Therefore

$$\frac{\xi'}{\xi} = \frac{(2\lambda + \eta_1) - m_1 \omega^2}{2\lambda \cos \theta} = \frac{2\lambda \cos \theta}{(2\lambda + \eta_2) - m_2 \omega^2}$$
(67)

It then follows

$$m_{1}m_{2}\omega^{4} - \omega^{2}[(2\lambda + \eta_{1})m_{2} + (2\lambda + \eta_{2})m_{1}] + (2\lambda + \eta_{1})(2\lambda + \eta_{2}) - 4\lambda^{2}\cos^{2}\theta = 0$$
 (68)

with the solution

$$\omega_{\pm}^{2} = \frac{1}{2} \left\{ \frac{2\lambda + \eta_{1}}{m_{1}} + \frac{2\lambda + \eta_{2}}{m_{2}} \pm \left[ \left( \frac{2\lambda + \eta_{1}}{m_{1}} - \frac{2\lambda + \eta_{2}}{m_{2}} \right)^{2} + \frac{16\lambda^{2} \cos^{2} \theta}{m_{1} m_{2}} \right]^{\frac{1}{2}} \right\} (69)$$

which is the normal coordinates of the impeller model.

#### 5 Conclusion

In summary, in the context of classical mechanics we have proposed a new approach to normal coordinates of Hamiltonian by establishing the secular equation with two consecutive Poisson bracket operations. This new method develops the role of Poisson bracket in material mechanics and mechanical engineering, since it paves an effective route leading to normal frequency of dynamical systems. Moreover, we may combine this method with the technique of integration within ordered product of operators[11] as well as the invariant eigenvector method in quantum theory[12] to find diagonalizing unitary operators and quantum eigenstates. The analogy between classical Poisson brackets and quantum mechanical commutators has been demonstrated through this paper.

#### References

- [1] HERBERT G, POOLE C P, SAFKO J L. Classical Mechanics[M]. Boston, MA: Addison Wesley, 2002.
- [2] TAYLOR J R. Classical Mechanics [M]. Herndon, VA: University Science Books, 2005.
- [3] STECHER J V, GREENE C H. Correlated Gaussian hyperspherical method for few-body systems [J]. Physical Review A, 2009, 80(2): 022504.
- [4] LACOURSIERE C, LINDE M. Spook: a variational time-stepping scheme for rigid multibody systems

- subject to dry frictional contacts[R]. Umeå, Sweden: Umeå University, 2014.
- [5] LOU Zhimei. Normal coordinates and normal vibration modals of multidimension free vibration[J]. Mechanics in Engineering, 2002, 24(6): 50-53. (in Chinese)
- [6] LOU Zhimei. The common method of finding normal coordinate for the multidimensional linear microvibration[J]. College Physics, 2004, 23(7): 3-7, 31.(in Chinese)
- [7] KONISHI K, PAFFUTI G. A theorem on cyclic harmonic oscillators [J]. International Journal of Modern Physics A, 2004, 21(15):3199-3211.
- [8] TOMIYA M, YOSHINAGA N. Numerical analysis of level statistical properties of two- and three-dimensional coupled quartic oscillators [J]. Computer Physics Communications, 2001, 142(1): 82-87.

- [9] JI Yinghua, LEI Minsheng. Diagonalization of Hamiltonian for three harmonically coupled non-identical oscillators [J]. College Physics, 2001, 20 (10): 24-25. (in Chinese)
- [10] LINDENFELD Z, EISENBERG E, LIFSHITZ R. Phonon-mediated damping of mechanical vibrations in a finite atomic chain coupled to an outer environment [EB/OL]. [2018-03-01] https://arxiv.org/abs/1309.5772.
- [11] FAN H Y, LU H L, FAN Y. Newton-Leibniz integration for ket-bra operators in quantum mechanics and derivation of entangled state representations [J]. Ann Phys, 2006, 321: 480-494.
- [12] FAN H Y, LI C. Invariant 'eigen-operator' of the square of Schrödinger operator for deriving energy-level gap[J]. Phys Lett A, 2004, 321: 75-78.